CYTEPEH

(a\

@



1 [KOTA+0,00}

1 {KIOITA+0,00)
1 {KOTA+0,00)
1 (KOTA +0,00)
1 (KOTA +0,00)
1 (HOTA+0,00)
1 {HOTA +0,00)

ABD

MATA3UH 01
MATAZMH 02
MATAZMH 03
MATAIMH 04

- MATA3WH 05

MATAIWH 06

HK

on
o]

on/103
3/c3

52.78

57.34
35.86
66,16
6853
4116
5917

836

9.06
567
10.47
10.85
6.50
9.36

6114

66,40
4153
76.63
79.38
47.66
6853

1 {HOTH +0.00]
1 (HOTA +0,00)
1 (W04 +0,00)
1 {HOTA +0.00)
1{HO7A+0,00)
1{KOTA +0,00)
1{HOTA $0.00)

MATA3MH 07
MATAIVH 08
MATA3MH 09
MATA3MH 10
MATA3WH 11
MATAINH 12

MAlSE LS

133.85
83.58

5268

B736,

1131
967
2118
13.22
8.63
834

1034

70.76

96.80
6324
61.02
Je e
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ETAM(/ KOTA

N
2 [KOTA +4,20]
2 [KOTA +4,20)
2 [HOTA +4,20]
2 [KOTA +4,20)
2 [KOTA+4,20)
2 [KOTA +4,20)
2 [KOTA +4,20]
2 [HOTA +4,20)
2 [HOTA +4,20]

2{MDTA +4,20)
2 (KOTA +4,20}
2 [KOTA +4,20}
2 [KOTA 4,20)
2 (KOTA +4,20)
2 [HOTA +4,20)
2 [HOTA 4,20
2[HOTA +4,20]

A01
A02
A03
A04
A05
ADE
AO7
A08
A09

ADL
A2

AD3

AD1
AD2
AD3
AD4
AD5

103/c3
on/io3

sz uww U‘E‘t popgsge

Z2enfclen)
2ericlen)
JerncZen)
Jerfc2en)
3crfe2en}
Jer{c2en)
ler
2cnfclen)
Zerfclon)

2cnfclen)
3::!.(:2:_:1‘}
Jorfc2an)

2cnicion)
2criclen}
2crclen.)
2erfclen.)
Jerfc2en)

M2

5170

56.67
85.55
921.78
9178
82.23

3778

51.60
51.86

56.58
98.77

53.90
55.23
52.40
56.56
8655

M2
819
BYE
13.53
14.52
1452
13.01
597
817
820
895
15.64
14.69
B.53
874
829
895
13.69

59.89
65,63
99.08
106,30
106.30
95.24
4375
59.77
60.06
6553
114.41
107.53
62.43
63.97
60.69
65.51
100.24
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ETAM / KOTA

N
3 [KOTA+7,30)
3 [KOTA+7,30)
3 [KOTA+7,30)
3 (KOTA +7,30)
3 [KOTA+7,30)
3 [KOTA47,30]
3 [HOTA+7,30)
3 [KOTA +7,30]
3 [KOTA+T,30]
3 [KOTA +7,30}
3(KOTA+7,30]
3 [KOTA+7,30)
3 (KOTA+7,30)
3 [KOTA +7.30)
3 [KOTA +7,30]
3 (KOTA +7,30)
3 [KDTA£7,30)

Al0
All
Al2
Al3
Ald
Al5
Alb
ALY
AlB
AD4
ADS
A6
A0
ADT
A08
A.09
ALD

103/c3
low/io3

TET ww ngQQQQQQ

Zenfclen)
2an{clan)
3cr{c2en)
derfelen)
3cric2en.)
e fczen)
len
2o {clen)
Zerfclen)
Zenfclen)
derfc2en)
3cnic2en)
2cnfclen)

‘Zenfelen)

2enfclen)
Zerfelen)
3erfc2en.)

5170
56.67
8555
9178
9178
8223
37.78
51.60
51.86

56.58

9873

92.88
53.90

55.23.

52.40
56.56
B86.55

M2
818
896
13.53
14.52
14.52

13.01

5.97
817
820
895

1563
14.69
853
B.74
8.29
895
13.69
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ETAM / KOTA

N
4 {KOTA +10,40]
4 (KOTA $10,40]
4 |HOTA +10,40]
4 {KDTA #10,40)
4 {KOTA+10,40]
4 [KOTA #10,40]
4 |HDTA #10,40]
4 HOTA +10,40)
4{KOTA +10,40)

4 |KOTA +10,40
4 |HOTA +10,40)
4 [KOTA #10,40}

4 (KOTA +10,40)
4 |HOTA +10,40)
4 [HOTA #10,40)
4 [KDTA 10,40)

-4 [HOTA #10,40)

ALS
A20
A21
A22
A23
AZ4
A25
A26
A2T

ADT
ADB
ADg

All
Al2
Al13
ALl
AlS

103/C3
j0n/103

2erfciom)
2erfclon)
3eric2en)
Icr(c2en)
Zerfc2en)
3erfc2om)
ler
2cr{clon)
2en(clen,)

2ericlen)
Icrc2o)
3cnfc2en)

Zerfclon)
Zerfcleon)
2oniclom)
2o iclon.)
3cr{c2en)

51.90
56,67
85.55
9178
91.78
82.23
3778
5160
51.86

5658
98.73
92 87

53.90

55.23
5240
56.56
86.55

M2
.19
8.96

13.53
14,52
1452
13.01
597
817

8.20

8.95
15.63
14.69

8.53
8.74
8.29
8.95
1369
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ETAN / KOTA

N
5 [KOTA +13,50]
5 [HOTA 413,50}
5 [KOTA +13,50)
5 [KOTA +13 50
5 [KOTA+13 .50
5 [KOTA +13,50)
5 [KOTA+13 50)
5 [HOTA +13,50)
5 [HOTA +13,50]
5 [KOTA +13,50}
5 [HOTA 413 50)
5 (KOTA+13,50}
5 [KOTA +13,50}
5 (KOTA+13,50}
5 (KOTA +13,50]
5 [KOTA +13,50)
5 [KOTA +13,50)

A28
A29
A30
A31
A32
A33
A34
A3S
A36
AL0
All
AlZ
Ale
A7
Al8
Al8
A20
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::xqwmgsﬂf‘}f‘}

Zernfclen)
2 fclen.)
Jenfc2en.)
Jerfc2en)
3er{c2en)
3cr{c2en)
Ter
2er{clon.)
2enfclen)
Z2erclen.)
Acric2en)
3cn{c2en)
Zerfclen)
2emfcleon)
2enfclen)
Zerfelon)
Jerfc2en.)

M2
51.70

85.55
91.78
91.78
82.23
37.78
51.60
51.86
56.58

9287
53.90
5523
52.40
56,56
86.55

M2
819
896
13.53
14.52
14.52
13.01
5.97
817
8.20
895
15.63
14.69
853
874
829
895
13.69

M2
59.89
65.63
99,08

106.30

106.30
95.24
4375
59.77
60.06
65,53

11436

107.56
62.43
63.97
60.69
65.51

100,24
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ETAM/KOTA  OBEKT  W3JOMEHWE ™

N N N M2 M2 M2

A BlHoTAsBs0) AT 3 Zerfelen) 51.70 819 59.89

A B[KOTA+16,50) A3E 103/C3 2enfclen) 56.67 896 65,63

A G[HOTA+16,60) A39 HoKn/o3 3er fc2en) 8555 13.53 99.08

A 6[KOTA+1650] A40 Hou Jerc2en) 91.78 14.52 106,30

A &[KOTA+16,50) Adl oW Benfozon) 91,78 1452 106,30

A B[KOTA+16,50| A4 K 3o fc2en) 8223 13.01 95.24

A BIKOTA+16,50} A43 a3 len 37.78 5.97 4375

A 6[KOTA+15,50 A4 fuc 2enfcien) 51.60 817 59.77

A G[HOTA4IEED] A4S e} 2o icien) 5186 820 60.06

6 GKoTA+GS0l  A13 n 2a{clen) 56.58 895 65.53

B 6[KOTA+1650} Al4 u/ca 3emic2en) 98.73 15.63 114.36

B 6[KOTA+1650| AlS 3 3er{c2en) 9287 14.69 107.56 ETAm 6
B GloTasigEn) A2l 3 Zen{cion) 53.90 853 62.43

B 6(KOTA+16,60} A22 3 2erdclen.) 5523 B8.74 63.97 @
B &5[KOTA+16,60] A23 L] 2crfclen) 5240 829 60.69

B 6[KOTA+16,60) A4 4]

B M

saiom aess mes 10| CFPALA 3 BXOA A/B/B

6 [HOTA #16,60) 25
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ETAM / KOTA

N
7 (KOTA +15,70)
7 [KOTA 418,70
7 [KOTA 418,70
7 (HOTA 418,70}
7 [KOTA 418,70
7 [KOTA+19,70}
7 [KOTA 419,70
7 [HOTA 418,70}
7 (KOTA+19,70)
7 [KOTA+18.70}
7 (HOTA +18,70}
7 (KOTA 419,70}
7 (KOTA +18,70
7 [KOTA 18,70}
7 [KOTA+19,70)
7 [KOTA 18,70}
7 [KOTA #19,70}

AdG
AT
AAB
A49
A50
AS1
A2
A53
ASd
AlB
ALT
Al8
A26
AT
A28
A29
A0

103/c3
Han/ o3

sg:uwg§sgggggg

2ericlen)
2enfclen)
Jer{c2en.)
3erfcZen)
Zerfcien)
Aerfc2en)
ler.
2en{clen.)
2ericleon)
Zcrfcleon.)

Bonic2on)

Jenfc2en)
2erfclen)
Zer fclen)
2erfclen.)
Zenfclen)
Jer{c2en)

s £

51.70
56,67
85.55
9178
91.78
8223
37.78

51.86
5658
98.73
92.87
53.50
5523

52.40
56.56
B86.55

M2
819
8.96
1353
14.52
14.52
130
5.97
817
B.20
895
1563
14.69
8.53
8.74
8.29
885
13.69

B

59.89

99.08
10630
106,30

9524

43.75

59.77

60.06

65.53

11436

107,56
6243
6397
60.69
65.51

100.24

CrPAZA 3 BXOA A/B/B




BX  ETAM(/KOTA

N N N M2 M2 M2

A B(HOTA+23.78| AS5 ou/flo3fca der.c3cen) 139.50 2209 16158
A B(HOTA+2378) AS6 oM 2cr{elen) 70.16 11.09 8125

A B(xoTawize)  AST 1ou/c3 3cr (c2en.) 9364 1481 10845
A BKOTA+23.78) ASE = ] 2erielen.) 5955 9.41 68,96

B soTAw3TEl  AlD we 3enfezen) 11084 1756 12850
6 &(HOTA+23.78) A20 = 2erfclen.) 67.55 10,68 78.24

B B(HOTA+23.78) A3l 3 2cr.{elen) 66.03 1045 7648

B B(HOTA+2378| A32 3K 2er{elen) 54.83 8.67 63.50

B 8(HOTA+23.78) A33 M 2ar{elen) 58.03 539 67.22

B E(HOTA+23.78| A34 "] Zor{clen) 63.58 10.05 7363

CrPAZIA 3 BXOA A/B/B




